s R
MODULAR GASCOOKERWITH OVEN  ED.01-99
LIST OF SPARE PARTS MOD. 65/110 CFG
code 253.031.00A

ITEM CODE MODIFICATION REF DESCRIPTION PRICE

1 675.028.00 Cooker shaft assembly CFG 110
3 673.011.00 Nut for biconical element D. 10 M16x1.5
4 673.001.00 Biconica element D. 10
5 671.000.00 Safety cock PEL SC20S
7 675.008.00 Front burner cock connection
9 675.010.00 Rear burner cock connection
10 |[622.397.00 Burners support
11 |673.020.00 Nozzle holder for top burner
12 | 672.010.00 Venturi tube for top burner
13 | 672.016.00 Bush to regulate top burner air
14 |611.029.00 Rear cooker upstand ass. 110
15 |611.125.00 Cooker door assembly
16 |611.048.00 Top assembly 65/110CFG
17 | 672.000.00 M9x1 500 L threaded joint thermocouple
18 |672.005.00 Ignition electrode with spring
19 |[674.003.00 Nozzle D. 95
19 |[674.005.00 NozzleD. 120
19 |[674.024.00 Nozzle D. 145
19 |[674.007.00 NozzleD. 180
20 |622.057.00 Enamelled drip tray
21 |672.050.00 “CE” burner base
22 |672.098.00 “CE” burner flame baffle plate
23 |672.044.00 Burner cap
24 |1681.008.00 2-ring grill D. 175
25 |[672.006.00 Piezo lighter
26 |666.000.00 600 L ignition cable
27 |682.003.00 Index plate
28 |623.002.00 Control panel fixing bracket
29 |[666.002.00 1200 L cablefor ovenignition
31 |[622.099.00 Inside bottom tray of cooker, size 70
32 |671.002.00 STSM 5320/1 valved thermostat
33 |611.096.00 Control panel assembly CFG 110
34 |673.017.00 3/8" nut for biconical element D. 10
36 |[673.016.00 M13x1 nut for biconical element D. 8
37 |673.005.00 Biconical element D. 8
38 |612.000.00 Gas knob assembly OD 62
39 |612.008.00 Gas oven knob assembly OD 62
40 |611.089.00 Gas oven assembly
41 |(611.088.00 Rung supports ass. for gas oven
42 |683.009.00 Rung 530x530

\_ 43 |684.009.00 Right hinge for oven door )




s R
MODULAR GASCOOKERWITH OVEN  ED.01-99
LIST OF SPARE PARTS MOD. 65/110 CFG
code 253.031.00B

ITEM CODE MODIFICATION REF DESCRIPTION PRICE

44 1684.010.00 L eft hinge for oven door
45 |[684.011.00 Roll holder for oven door
46 | 625.009.00 Oven counter door
47 [621.126.00 Oven door
48 |[621.127.00 Handl e for oven door
49 1611.090.00 Flame baffle plate ass. for oven burner
50 |672.030.00 Burner ass. for gas oven
51 |673.023.00 Nozzle holder for pipe D. 10
52 [673.024.00 M 14x1.5 nut for nozzle holder
53 [672.021.00 Air regulating bush
54 [674.031.00 NozzleD. 180
55 [675.043.00 Oven burner connecting pipe
57 |260.004.00 Vertical spring for oven door
58 [260.003.00 Horizontal spring for oven door
59 [652.002.00 Vertical seal for door
60 [652.001.00 Horizontal seal for door
61 |611.087.00 Gas oven flue assembly
62 |683.005.00 GN 1/1 rung for size 40 compartment
63 [683.004.00 Rung support for size 40 compartments
64 |611.127.00 Size 110 top hinge-cooker ass.
65 |611.126.00 Size 110 bottom hinge-cooker ass.
66 |621.133.00 Cooker back panel 110
67 |611.099.00 Size 110 cooker unit ass.
68 |672.018.00 1200 L thermocouplefor oven
69 |672.019.00 Spark plug for oven burner
70 [611.690.00 Cooker cross element ass. 110
71 1612.014.00 2" gasH. 145 AlSI 304 foot assembly
72 | 622.087.00 Gas oven burner protection
73 |682.004.00 Plate for oven knob index
74 [623.032.00 Protection for hinge
75 [625.008.00 Gas oven bottom
76 |641.012.00 M4 screw for pressure tap
77 1623.034.00 Oven thermostat bulb support
78 [641.013.00 Rung support fixing pin
79 |622.144.00 I nside bottom tray 40G/110
80 [684.014.00 Magnet without disk RPV 30+nut+R
81 |621.135.00 L eft side panel of cooker 110
82 |623.064.00 Piezo protection
83 [623.207.00 Piezo protection CFG

- J




